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BA PART 3 QUESTION PAPER- 2018
ECONOMICS

Paper II : Economic Policy of India
M. M. B.A. : 33/B.Sc. : 65

Are—avft w1 afrard ¥

1. Which scheme has been launched in palce of SFIS? &g ®R 3Ugd1 ThiH
(SFIS) % TH W FH-H T @&W ardt 74t 32

(a) Service export for India TfdH TG Wi 3frear

(b) Export promotion for India TsRA9IE WHIYH FR 3frzan

(c) Portpholio promotion for India 91¢ HIferdt woIeE wit 3foear

(d) None of these 15 | HIg Te1 |

2. Included in foreign investment : fa¥it frdw % wfinfem €1 §—

(a) Foreign direct investment fasit weaw faw

(b) Portpholio investment TEwiferar faw

(c) both 21 ‘a’ and 3 b’ (d) Domestic investment Eﬂﬁﬁaﬂi

3. At which date TARAPORE Committee was formed? TRIYR Qffa &1 134
fa fafa =1 faegn e a1?

(a) 20 March 1€, 2006 (b) 1 April 318, 2006

(c) 31 July [T, 2006 (d) None of these $T8 ¥ @13 71&]1 |

4. Meaning of Devaluation is : Saqeq F1 g t—

(a) Increase in money supply T&1 3yfd a1

(b) Decrease in money supply H&l W‘{ﬁf HH HI{AT

(c) Reduce of Internal value of money H&I & 3Tl o4 H Al

(d) Decrease of external value of money & % &l &4 3 FHl |

5. When first devaluation of Indian currency was done? MR T9d H1 TUH
ATgA e famar T 41?

(2) 1948 (b) 1949 (c) 1966 (d) 1980.

6. Meaning of Import substitution is : STITd ¥ witrearem & oy @—

(a) High Increment in import amar | eaﬁmq&
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(b) Domestic production of imported goods IR ﬁ'lﬁaﬂ w1 30 Fwfor oy
() Export promotion rafa a3 (d) None of these 379 & #1g 71 |

7. Benefits of import substitution is : 3TATd WU % W@ wv §—
(a) Maximisation of export goods 3ifu® a&gait = frafa

(b) Minimisation of import 374w ®

(c) Reduction in business imbalances NI W~ ®H g

(c) (b) and ¥R (c) both N1

8. Import substitution from foreign : fa3¥i ¥ M@ '!IﬁTvEEITW—

(a) Dependency Increasing fisian srgt &

(b) End of Dependancy fisitan gura 2t &

(c) Effectless Dependancy fsitan wwmadla wdt

(d) None of these T4 & F§ e |

9. Which five year foreign business policy is in existence at present? 'cl?hﬁ L
HH-H dadty faedt smm =ifs anpd?

(a) 2004-09 (b) 2014-19 (c) 2015-20 (d) 2016-21.

- 10. When does the government announced foreign Business policy of 2015- 20?
fakw =amaw +ifd 2015-20 WY HYYON WEHR N w HI1? -

(2) 5 Jan. SFERY, 2014 (b) 1 April 3714, 2015

(c) 31 March 9r€, 2014 (d) 31 March ¥, 2015.

11. Result of devaluation is : 3TaHEd 1 YR gl ¥—

(a) Decrease in Domestic exchange value of currency H‘(FLW =1 fafa
I e

(b) High price of import 34T W& T

(c) Increase in domestic cost B¥¢] WA A qu

(d) All of the above IYY® | |
R 12. What is demerit of elastic cxchange rate? el fafma ﬂ'ﬁ AW

?
(a) Unfavourable effect in business pollcy MR 6T W Fiagd g9

(b) Unfavourable for developing economy fasraeiicl 3efsgaeyei & faw

(©) (2) & 3iR (b) both THI . (d) None of these 374 § @l & |
" 13. Who is present president of NITI. AAYOG? ifd AN & FdIE AW
(a) Arvind Pangadia 3rf&< 9 mfgar (b) C. Rangrajan &1, TR
(¢) Narendra Modi 7% HISt (d) None of these $T8 q +IE 7/
14. Niti Aayog converted from =ifer 2T ¥ fera T =1 v foran ®72
(a) Jal Aayog ST AT (b) Yojana Aayog ST ST
(c) National Forest Commissioln TS a7 o
(d) National Energy Commission US4 St ST

15. Where foreign Direct Investment is prohibited in India? WRa # & ¥ A

yaq faei faw fmy 32
(a) Armed and war material 3TH-Y%A W& & AR
(b) Atomic Energy 319 WIft (c) (a) and 3R (b) both
(d) None of these T8 ¥ &1E =TT |
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16. For which country’s economy does export promotion relates? Frafd HaaT
2o 1 AR ¥ i oy %—-y Port promer

(2) Harmful TR (b) Profitable TMVRTTH
() Eif;:ﬂcss 3‘“?;@? (d) None of these T8 & #1% T | qﬂﬁ
17. when and where was coastal goods export organization established?

g P een el st vt Py :
(a) Before independence in Vishakhapattnam w@a=a & g4 faem@rqgT A

_ () In Cochin before independence = @ qd Hife A

(c) In Trivandrum after frecdom Sa=r wiftg 3 gyaq P o
(d) None of these T ¥ % 7|

18. What was objective of Indian State Trade Corporation? SR 79 =TI
Py Y VTS 1 39T T 42

(a) To control over import and export goods Fegaif 3 m-frata W fra=T
(b) Industrialization

(b) Agricultural Development Hfy fysrg

(d) Business Compromise SR w9z st |

19. Which fund was established in 1963 for export promotion by government?
Feer 510 Pl wagH ¥ F-w ﬁfﬂﬁl%i’»ﬁgﬁ?fﬁﬂﬂ? 7e

(a) Agriculture development fund Yy fiyrg fify

(b) Service sector development fund &a7 &7 s fify

(c) Marketing development fund faqor fasmg fify

(d) None of these 37 & 1 71df1 :

20. When was EXIM Bank established in India? YRa & fafa-smaa 9%
(EXIM) 1 TG & i 7412

(a) 1 Jan. SFE, 1980 (b) 1 Jan. S, 1981

(c) 1 Jan, &, 1982 - (d) 1 Jan. S=d, 1983.

21. Who organized exhibition of main commodities of export? YRd ¥ Y@
frafa avgaetl ) UREHT S T w7

(a) Foreign Ministry f&e w=ier

(b) Indian Business Promotion Organisation YR SR Hag W

(c) Import-Export Bank fafa-31ama ¥=

(d) Marketing Development Organisation ferqur fasmy dma1

22. For which object the government strarted EPCG scheme? EPCG &IN
TEHR 7 59 3299 | W 12

(a) For import substitution 3raTd Wiasdmg=

(b) For faster industrial development 3i&ifies fasrma e w13 ¥

(¢) For export promotion i Ha&T g

(d) None of these 378 & &1§ 7181 |
'23. What is the meaning of EOU in relation to export? EOU %1 fqfq q

Tty a1 a7 32 | |
(2) Earning Output Unit : (b) Earning Criented Unit
(¢) Export Oriented Unit (d) None of these 9 | #I% &1 |

24, When was national export insurance account was approved? ITQ.‘I!} fufg
Rk Yo HT it @iy wa wra g8 o
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(a) 4 Jan. 5741, 2006  (b) 26 Jan. SR, 2006

(c) 31 Jan. ST, 2006 . (d) None of these 38 | &I =Y

25. Which of the following is monetary solution of export promotion? ﬁ'qh
oA ¥ AifEE v fra A A FA-R §2 :

(a) To Rebate in Interest =311 @t frarad

(b) Credit to units FHREAl T 0T Flawr

(c) Cash compensation et &iftrqfef weraar

(d) Al of the above ST4H |l | _

26. Main objective of Indian agriculture policy 2000 is : W3 Hf¥ =ftfa 2009
1 W@ 3Rd B— '

(2) Minimum 4% increases in agriculture arca FfY &% ¥ F9-F-+% 4 Yo
! e T W wE

(b) Development of irrigation resources &< & am=T =1 fasm

(c) Implementation of higher technique in agriculture Hfq & 3= LCEicafch

(d) All of the above ITYH T |

27. When agricultural policy was announced after 20007 2000 % ¥ WRHg
Y e wa Nvd 532 -

(a) 2007 (b) 2009 (c) 2008 (d) 2005.

28. The cumulative average increase in agricultural area in 11th five year

plan : TIREE! YoawTy Ao § Sy &= 1 Gt v 9% T @W—

(a) 44% ) 36% - ©) 52% @ 64%.
29. Green Revolution come in existence : &R shif<1 fa o€ 3w & &8 18?2
(a) 1951-52 (b) 1960-61 - (c) 1967-68 (d) 1979-80.

. 30. From where food material for public distribution system is supplied?
W faaer yomeh ¥ fore @ren=it it Sy wel | et €2
(a) Food Corporation of India ¥dtd @rd f7H
(b) From Collection of Rural Food T W GRA G Sl
(c) From Cooperative Stores e e i g
(d) None of these 378 & HI3 51 |
- 31. When was NFSY started? U1 @Ta FI&T Q1 (NFSY) & WIOY &
?

(a) 15 August 37T, 2012 (b) 20 August 37K, 2013

(c) 25 August 37, 2014 (d) 30 August 37, 2015. _

32. High rice production country is : Af¥as Iraa IaA F Y I T—

(a) India WA (b) Brazil S(Tsitel :
() America 3R (d) China ¥i71

33. Which of the following is not objective of National Rural Development
Program? TSTg A0 AR rdfsn® & Feoet & | sl-11 IR =l ®72

(a) To provide additional profitable employment TWWg 3faftes Q=R T<H
C G ‘

(b) Manufacture fixed communal asset T GrRIEw TRfadl =1 Fmia
(¢) To improve living standard of rural poor WY e} ¥ ea-wea ¥ WA

(d) Increasein multifarming SEFHEA A T FgTaT |
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objective of RLEGP is : RLEGP &7 1 34¥9 ¥— pa—
® 1o provide employment for landless rurals Tt ‘Iﬁﬁ;ﬂ ¥ fae

o« r0 build rural infrastructure TTHior ST Y AT BT
f:; ;_, mike fixed communal assets FTRIfya Tt Tfesf F1 fertr
@ All of the above IWYw Wt | ﬁFﬂmﬁ
45, Rural programme merge with : §Hfer rfior 25T 1 faerd
el ! : .
() Jawahar Rojgar Yojana et AR et
(©) Swam jayanti Gram Swaraj Yojana i STt W9 RIS Arerl
(c) Pradhanmantri Sadak Yojana YMF=t wrgeh e
@ None ofthcseﬁ'ﬁﬂ w1 ) _Eg
36, When Green Revolution was passed? ¥fta #if< fie drorrETe H W

? (s) Third Five Year Plan Tdta vy e
(b) Three One-One Year Plan ?ﬁfl, TH-TF Juiq et
(c) Fourth Five Year Plan igef d=rendfa <o
(d) Fifth Five Year Plan SS9 Yeag g
37. What is the meaning of agricultural diversification? $f¥ fafadrTor H1

7 ¥?

(a) Different agricultural methods are adapted fafay ¥R Q Ff FE

(b) Pay equal attention to food grains, pulses, oil and plantation G, gele,

frae T o <

(c) Increasing agriculture field by reducing forest area 5 R F T Y HX

qgrl

ﬂ (d) None of these T 9 H¥ e | .

38. Which of the following is non-government organization? ¥+ # o -
i W &2 o

(2) SEWA (b) CONCERN

() STATE GOVERNMENT . (d) ‘' & @ ‘b’ both |

39, Which of the following is government organization? 1= T ¥ B
FE T ®?

(a) INFOSYS foundation FRRTE WRVENH

(b) Times foundation TF FRUSIH _

(c) Capart FIE (d) Jonta Resource Centre St i@ ¥

40, Jawahar Lal Nehru National Urban renewal mission started : SIdIeT 1&®
w5 vt et faee feea fafl <6 wroa o mam? |

(2) 15 August 37T, 2004 (b) 26 January e, 2005

(c) 15 August 3R, 2005 (d) 3 December &&=, 2005.

41. 'For whom Aam Aadmi Beema Yojana lies? 3T 3IgHT a1 drern feas

forg et Tt ?

. (2) For all rural persons §t Irion % faq
(b) For landless farmers Mg @ftedl ¥ fag
(¢) For urban youth ¥I&<t gamsii & feiq
(d) For urban ladies ¥t afeemsil % feg |
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42. By which sector does the ‘Agflation’ relates? "TRITE W f 3

grafyd &7
(a) Industrial sector S &5 ¥ (b) Agriculture sector Fd &9

(c) Service sector qaT &= q (d) None of these T8 & H1§ 77 |

43. In which year does the government enforced Ganga Kalyan Yojana? vy,
FTTO A THR A g ad an] i A?

(a) 1995 (b) 1996 (c) 1997 (d) 1998.

44. What is the effect of purchasing power by increase of agricultural pricesy
iy gl #1 gfx 9 w9 e F— _

(a) Decreases TR 1l [ (b) Increases g5 Bt &

(c) Constant feercen Wt # (d) None of these T ¥ @Ig a1 |

45. Agricultre in India is supposed as : YIRd A $fa A SR T—
(a) Centre of Rural Economy ATHoT 3efgaran i w5

(b) Basics of lifeline of rural trive Trfivr e %t sYR v5fd

(c) Backbone of Indian economy 3% @t srfraredr %t {ig

(d) All of the above I9gw @i | o
46. What is done through mediation process? WAeed1 Wfham gRT 41 feran <

2?
(a) Encourage to labour organiation ¥ HTHI Y FIwre

(b) Resolution of problem W& 1 THIM : |
(c) Effort to compromisé TR % 9 (d) Both (b) and 3R (c) A
47. ILC means relation to labour is : [LC 31 9 & -+ 31¢f g¥an B—
(2) Indian Labour Council 3t @sR H1Sf-aet

(b) Indian Labour Conference 3VS47 A HERT

(¢) Indian Labour Committee HAELE] A FAA

(d) None of these 375 § 1§ T | :

48. How many industrial policy announced after independence? =l 7
Ty FAAT A frae-sitefi fe 1 o g g ??

(a) 6 )7 (c) 11 (d) 4.

49. When was announced Industrial Policy, 19567 srenfiren ifd, 1956 +

Hifyq =t TE?

(2) 15 August 37T, 1956 (b) 16 May T, 1956

(c) 16 February &<, 1956 (d) 30 April 3719, 1956.

50. What was the main object of Industrial Policy 1956? 3ftehfir =ifa 1956
&1 W@ Ie¥d 9— -

(a) Division between A, B, C 7 &7l &, 9, ¥ ¥ fassm

(b) Priority to labour welfare 51 el ! Frfasha

(c) Similarity between domestic and foreign capital 3%t Td fardeft it v ¥
A |

(d) Al of the above I7Fac |t | _
51. The goodwill of Indian Organization in International market : SIS

IRl T YRHG G13T &t Gra—
(a) Increased 9T 3 (b) Decreased %7 §3 §
(c) Constant TeerR Tt '3 (d) None of these FTff ] T=Pﬁ§ T\
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52. PEELI Kranti is concemed with : feft i fisy Ffy 3 @ wrafd ¥
' (a) Pulses TTET FHR (b) Oil firee waal .

(c) Fisheries e . (d) Edible crops W=l W |

53. SWET Kranti is concerned with : AT i grafid —

(2) Edible crops TR Rl @ ) 041 crops fierga wal |

(c) Milk and dairy products g7y & IR |

(d) None of these 319 J 3 7|

54. The increasing trend of fertilizer industry in 2016-17 : 2016-17 ¥ IATH

(a)67% (b) 8:9% (c) 11-8% (d) 4:3%.
55. NEELI Kranti is related with : Heft sifi =1 vy 3—
~ (a) Pulses TTTET WRE § (b) Edible crops @ar=1 wawl |

(c) Milk and dairy products T @& 3¢ 3wt @
(d) Increase in Fisheries production ey 3aqres 3 & qI

56. Which type of udnertaking is MTNL? wgrt 2efter i fafies fFg
Tt 1 STHA B? AR

(a) Miniratna fiFite (b) Navratna 79t

(¢) Maharatna HeTT (d) None of these 574 @ g ¢TI

57. No. of Maharatna undertakings are in country : 3% ¥ Wee? ITHHT H
dor adaH § — -

(a)7 () 4 - ()3 _ (d) 8.

58. What is period of sixth economic survey in India? e ¥ Bt a7fefar TorT
FFAFA T2 o

(a) January SHE 2013 10 Q April e 2014  http://’www.dbrauonline.com
(b) January SFE{ 2012 to & April 31 2013

(c) January STE 2014 to | April 318 2015

(d) None of these T8 & =1$ =& |

59. Which animal has been displayed in form of symbol of Make in India? &
7 §ive e & Wl Tog o form Ser 1 qwian v 22

(a) Elephant gTeit (b) Lion IR
(c) Kangaroo & (d) Horse =111
60. What is the meaning of M.S.M.E.? TH.UR.WH 3. & g 3—
(2) Most Super Medium Enterprises HRE U Hifeqq 3vexuais
(b) Most Super Micro Enterprises IR I AIFh! U1
() Micro Small and Medium Enterprises HI5h! St Uus Hifsam svargrsrs
(d) None of these 378 & =12 &1
"T!mﬂ. What is objective to frame of MRTP Act? MRTP TR g 3298 ¥ s/
(2) To restrict monopoly in industrial sector 3ieNfira &% T WHh=or Yy L5l
(®) Restriction in monopolistic activities Ty Tfafafal w A% ¥g

() ‘a’ & Td ‘b’ both ST (d) None of these 378 Q 18 g1,

62, In which year does the Coparative Act formed? Wiereaut ifufram fg o
T3y ™ - -

(@) 1959 (b) 1967 (c) 1991 (d) 2002,

h
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63. When does Comparative Commission come under force? wfaeqyt T
+9 Afaa ¥ amEn

(a) May W§, 2005 (b) May 5§, 2007

(c) May =¥, 2009 (d) None of these ¥ & #1§ =T8T |

64. Which of the follwoing Act is in existence? T § BIH-T1 AfuPrEm oy
aftaa & §?

(a) FERA (b) FEMA

(€) (a) & T (b) both Q= (d) None of these T8 & ¢ 78T |

65. How many numbers of Navratna companies is in India at present? 3% ¥
TR wtal W den adam ¥ $— -

(a) 61 (b) 73 (c) 84 (d) 81.

66. According to data of 2016-17, approximately how many peoples employed
under public sector? 2016-17 ¥ WH®! ¥ AR vt & F TV fopa <l =+t
Qe Wt §?

(a) 19-5 lakh @ (b) 18-7 lakh &7/ @

(c) 3-8 lakh TT& (d) 84 lakh ¥IT@ |

67. Which of the following is not public scctor undertaking? =1 % § H\-¥
Fot wratE Iy et §7 -

(a) Rourkela steel plant TRthe et w0

(b) MTNL

(c) SAIL Ve T sifw 3frean fafies

(d) Maruti Suzuki Udyog Limited 71 gt 3ein fafies |

68. Fullfilment of which condition is compulsory to become Maharatna
company? HEWe &+t 711 ¥ fag F1 v e &2 -

(a) Registration in share market TPt Y4 AR # qitga B

(b) Average annual profit of 25,000 crores 25,000 FUS 1 Jtaa o wfaad

(c) Average annual turnover of 25,000 crores 25,000 FUE 1 A9d FRER

(d) All of the above SUZ® Tt |

69. Which sector of company is oil and natural gas corporation? 9 &

wiHTaew A frm few &= = F R? :
’ (a) Public sector WIdSFH &% #  (b) Private sector Fsft & i
(c) Cooperative sector §&HRI & =i (d) None of these T Qg TR |
70. What is reason of strike and lockout? €SaTdl T @] & SR F7=1 § §
w1 e 82
(a) Increase of production TR ¥¢ T &
(b) Improvement of Industrial relationship ST wa~ G §

(c) Loss of labour days #H feaaY =t w1 Bt

(d) Industrial peace fteifira i W ¥

71. When was first industrial policy announced after indepence? ¥&a= MR
=1 wuu Srafire fife wa wifvg |t 182 |

(a) 1947 (b) 1948 (c) 1956 (d) 1961.

4 72. Who announced first policy of India? M@ ¥ wgw =ifa Y wywn fHa &t
?

(a) Sardar Vallabh Bhai Patel TER qeeW W Y&t
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(b) Jawahar Lal Nebru o st S

(c) Shyama Prasad Mukherjee vaqmy G gl

(d) None of the above 1 3 X T

;?3, What is importancfe of multinational compuny? 'qgtrs;‘rq FoqAT ! oo

il (a) Work in several countries % 2o ¥ wpf FE
(b) Work in single country & ¥y 9w

(©) No-work in any country et N ol
(d) None of these o q T T HE

74. What is limitation of private sector? fih ?
(a) Lack of capital $5ft 1 appg &% 7 7 dd ¥
(b) Unskilled appropriation and management @

(c) Unavailability of higher technology et asmar
(d) All of the above 37w |t v o

75. Meaning of MRTP is : MRTP sifufram  MRTP 1 51 3—

(a) Monopolistic and Restrictive Trade Practice Act Tl Td wfeaf-a
ﬂ'p;[( W 3|| ﬂl Rl .q-q

(b) Monetary Income Business Act Tfffh? Y R Afufey

(c) Monetary and Restrictive Business Act ®ffka 3k wRrafya =mm aAfuf@as

(d) None of these T A 9 T ,

76. Which type of economy is Indian economy? WRdta sideraca fng AR
) sferaen ? d

(a) Underdeveloped 3ifaafim (b) Developd farsfea

(c) Developing [EEARNI| . (d) None of these 17 & I3 Tl |

(a) USA VI T4 it (b) Bhutan Y2

(c) Nepal Aq1 | . (d) Sri Lanka %@ |

78. What type should be of economic policy? anfdfe ifs = @&q Har g1
qMee? _

(a) Static wifirw , _(b) Dynamic TcHH

(c) Indifferent T&¥Y (d) None of these 378 & g =&l |

79. What is symbol of high money inflatiton? I=3 T&1 ¥hifd Wit gt —

(a) Downfall of real income fitet areafae sma

(b) Causes of consumer 3YHI®RIl o fere ifimmg

(c) ‘@’ & TUT ‘b’ both THT (d) None of these 378 ¥ &g &I |

80. Which of the following is monetary solution to stop money inflation?
TR B ek F A U T § | B E?

(a) Bank Rate and Net Liquidity Ratio e gt a1 Gaifife alerar STqua

(b) CRR Tahal IRf& 37791

(c) Repo and Reserve Repo Rate frad Yo <X aar by X

(d) All of the above 394w |t |

81. What is important to reduce effect of inflation? ThIfiEH W F7 F &

| forw = strereas 22
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(a) Reduction in production ITEH Fi 711 H Fift
(b) Increase in production SWIEA &t 7H1 A K
(c) Constant Production I %1 feg 7y

(d) None of these 7 § ¢ 7T

82. What is said to first five years plan in India? T *t Wo% Yoy ey
1 FE < t—

(2) Depending on Agriculture Development F¥ farra amufta

(b) Depending on solution of labour problem 5% ToET frrrator amnfia

(¢) Depending on development of service sector /4T &7 1y anyia
(d) All of the above IT4 |\t |

83. What was the period of 12th five year plan : aREST Yaaefa drer ]
= 917

(a) 2007 10 2012 (b) 2002 t0 2007  (c) 2012 to 2017 (d) 2017 to 2022.

84. Which percentage decided in 12th plan to take a growth? arEdf At 3
st feeR wivea 9% =1 weg Piaifa fear mar an

(a) 4% () 8%

©) 10% (d) None of these 378 |} =¥ =T |

85. MNREGA is related ;: 0T wrafoyg 2—

(a) To improve irrigation in rural areas W7 &5 ¥ i< e gurT

(b) Rural public planning TRV A fgem -

() To provide employment in rural areas TP &5 & AR STTRH FT

(d) All of the above STg |t |

86. How many types of economies are in the world? fovg & fofa? w9
rdfegereaTd it S ¥ 2 |

(a) One T () Two (¢) Four SR (d) Five 9T |

87. Resource of micro economic policy is : Sfte 3nfds Rfa = wnm T—

(a) Monetary policy fx&® M  (b) Fiscal policy TsaheIy ify

(c) ‘a’ and T ‘b’ both Hf (d) None of these 378 & +I¥ =& |

88. In which main section the economic policy is divided? 4= fy F firg
W@ 9l F |ier S &2

(a) Micro Economic policy &afie snfdfq =ify ,

(b) Export Policy fafa iff  (c) Macro Economic Policy Tafte anifds ify

(d) ‘a’ & T ‘c’ both THT |

89. Objective of which policy is to modify allocation of resources? WA ¥
e ¥ GUR w1 fohg Aifa 1 st 2

(a) Micro Economic Poli :y =afte snfdfe ify

(b) Macro Economic Policy 9afte anfife =fify

(c) General Economic Policy 9y anf¥fe +ify

(d) Energy Policy et i

90. Objective of macro economic policy is : GHft anffe ify T RN T—
(a) Economic growth & full employment 37ftfs & & gt Jseme

(b) Price Fixation ®9a feerar (c) Balance of Payment Y7Ta™ 31§ W<
(d) All of the above I |t |

91. What gross national income per person for high income generation country
1as the World Bank fixed in World’s Development report 2016? fava fywra faé

wod dUI[uUoONBIqP MmMm//:d1y



wod duljuoneigp mmm//:dny

zomﬁﬁ““*mmmhﬂaﬁmmmmmmﬁmﬁaﬂﬂ
? .
(s) Abvoe 13252 $ § sy (b) Above 28585 $ & Jtfirm
(c) Above 23‘_‘7 $ ¥ Sifi (d) None of these ¥7¥ & 1§ 781 |
92. Developing Economics.

------ population ratio in primary sector.
A wft Trehey primay

1 3YA—
(a) Wants to reduce &% F | ¥

(b) Wants to increase s s ameh) 4
(c) Wants to constant Rert Tar smyeht #
(d) None of these ¥7% & = mft

. a;_;, The gljcma; \;-c:kness of developing economics are : fﬁﬂﬂ?ﬂﬂ Fferaenait

(a) Lack of National Resources Wrpfira eyt f it

(b) Slow Development of Infrastructure Syttt e frsra
() Lack of Human Resource Brg danm w1 Het

(d) None of these T ¥ 3¢ = |

94. What is objective of great economic policy of underdeveloped economics?
Feqfawia AdsTaT W g5

ifa %1 Iwa w1 g §2
(a) Population control SEEA frg=or ' '
(b) Fast Development of Infrastructure 314R= %1 =i fasg
(c) Increase in Education and Literacy féren wef weman o s
(d) None of these 379 | #1% =ef|

95. Objective of Economic Policy of Developed Economics are : fa&fad
fgaensdl B wfiE MR eam—

(a) Increase level of National & Per Capital Income T4 Td oft = ama
T 'R '

(b) Eradicate Unemployment SRYSRTRY 991G ¢
(c) ‘a’ & 94T ‘b’ both T | ~ (d) None of these 379 ¥ 1 711

~ 6. Which of the following does control over fiscal policy of country? 331 ®t
T a1 fge=s fE i s amd? | .

(a) RBI fi5d 9 3t sfveqn (b) Government H{&HR :
* (¢) NEETI Commission =ifdf 3@ . (d) Agriculture Commission Ffy ST |
97. What efforts does the micro economic of country? 39 ®1 i ayfds

“Hfet = warw Rt 22
' (a) To provide capital ot WS T |
(b) To slow the business cycle SR =1 1 7T Y 77 FE
(c) Increase in labour skills 5% %! FV@@ & &1
(d) None of these 374 | &1 7&T |

98. Any country’s balance of payment be in constant, when : f&dt 2w =y
YT ¥y 39 T e i fefa 3§ € R, S@—

(a) Country has Industrial Development ¥ ¥ wai seifire fawma @
'(bJ Import is equal to Export 31T, frafa o= ¥

(c) Downfall in International Liquidity S=RIS Tt A F+i €

(d) None of the above 394w At |
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t object of underdeveloped

i i 0 coyn, '
99. Which of the following :!.rei_’f!;.1 e = g 32 Ntrys

srefrmiaa 39 it anfdes Hfy & Fr=

(a) To mitigate reasonal imbalances B S
iti ic development 3N faerd T HE
(b) To mitigate economic develop e

(c) To down the capital generation . \
(d) To increase in cmployment opportunity I ¥ Egdl ¥ 9f& Fem)

100. By which organization the Government uses monetary policy? (&R iy

S5t STEEEar Y g HET

e ¥ Tram @ ke At 1 wEm Fw §? - N ,
(a) Finance Ministry fa 7= g (b) NEETI Commission Hifa HT?-I'T'T‘
(c) Central Bank %13 & (RBI)

(d) Fixed Planning Socicty ¥t frar= ‘Hﬁlﬁl I
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